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Instructions for the Candidates

Write your Roll Number in the space provided on the top of this page
as well as on the OMR Sheet provided.

At the commencement of the examination, the question booklet will
be given to you. In the first 5 (five) minutes, you are requested to
open the booklet and verify it:

(i) To have access to the Question Booklet, tear off the paper seal
on the edge of this cover page.

(ii) Faulty booklet, if detected, should be got replaced immediately
by a correct booklet from the invigilator within the period of
5 minutes. Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given.

(iii) Verify whether the Question Booklet No. is identical with

OMR Answer Sheet No.; if not, the full set is to be replaced.

(iv) After this verification is over, the Question Booklet Series and
Question Booklet Number should be entered on the OMR Sheet.

This paper consists of One Hundred (100) multiple-choice type
questions. All the questions are compulsory. Each question carries
two marks.

Each Question has four alternative responses marked:

@ @ @ . You have to darken the circle as indicated

below on the correct response against each question.

Example:@ . @ , Where @ is the correct response.

Your responses to the questions are to be indicated correctly in the
OMR Sheet. If you mark your response at any place other than in
the circle in the OMR Sheet, it will not be evaluated.

Rough work is to be done at the end of this booklet.

If you write your Name, Phone Number or put any mark on any part
of the OMR Sheet, except in the space allotted for the relevant
entries, which may disclose your identity or use abusive language or
employ any other unfair means, such as change of response by
scratching or using white fluid, you will render yourself liable to
disqualification.

. Do not tamper or fold the OMR Sheet in any way. If you do so, your

OMR Sheet will not be evaluated.

You have to return the Original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with you
outside the Examination Hall. You are, however, allowed to carry
question booklet and duplicate copy of OMR Sheet after completion
of examination.

Use only Black Ball point pen.

Use of any calculator, mobile phone, electronic devices/gadgets
etc. is strictly prohibited.

There is no negative marks for incorrect answer.

So.
5.

SR

AT G AT
@3 7oiE Sl M BT @3k OMR #ltas e =i fces
T AT (Roll No.) 14|
AIFR IR G-I (Booklet) SN (e 7 | A
@ (#15) RAEE Fesig-+4fE=i (Booklet) Y1 FiT ©i= A6iE e
ST T SN SR S 20 8
(i) 2ZAT-ReIT (Booklet) TG S 25a% 5F1F (Cover Page)
ez FolER AT SAATIE L50e 2@ |
(i) 3 AT (Booklet) @boye @i fNifae 27, oz
AT W 22w e BRGa s AT oifaweis eI A
2lo[@-s{f& (Booklet) 1 &foRIore a0 (703w | @2 AN
A7 (P O 2I%1a-7|f8F! (Booklet) Afegi#R =il JC =1l |
@Ive sfefae Tme (el 2@ At
(iii) 2GR (Booklet) ¥k OMR #I0ad 759 S St [l A6
] (I | T S AR o)l (Tofl afezifes Face 2@ |
(iv) A5 Il 2 2AT-4fRFIF (Booklet) P1ie @3k emsisig
R (IFE) 799 OMR “tq fifoia Face 2@ |
a2 Agqfre e (00)-B 2y Teaudl @ (Multiple-choice
Type Questions) IRz | 2 2tad Tea 41 S | 2ifol eesi=
STIE 73]
Afsfb et Termmel BRI (Circle) ofere es Ter qm ¢
@ ® (© ) Fsffs fms womEs 7Hs teaba 3
T T FH0S T |

szar: ) ® @ @, i e wer © |

SPAIG ST A AT TR @ OMR #6a7 WS Btz orel
23| OMR »ita7 78 Joea iz Tex e (Fie i o it
2@ Al

2Ag-7|fEBIF (Booklet) (1T SR AF IS (rough work) FACI |
OMR #Ita3 8 Zit Fie w2 2l qrere v 3 sifsfre @ime
PiEore O qL— W, I T7 G A G5 (it e @
I @l oA feere 2/ biere 2re #Ii wi2@l (@I9e SRR
O 2T T S SR (IS T SREE 41 21 [2— Sibs
i a1 il i i Tea sifvasem aam a1 =, EeRea Sl
Mo Teasia AfSETE Ty W ARREH |

OMR 73l (@€ ©Itd o FAE =1l A ©IE FA 1 | GICHE
I OMR b Enifie 2@

AP N 20 SR ©IE 203 (Original) OMR #a #/5 2Ifams{wes
Tl fCe 2@ @R (@IS O @b S5 e AR e A 9z
1 TR N | AR S0y A STl 263 47 2i7ia-2fRG (Booklet)
'€ OMR #iG&% 751 (Duplicate) FI% e 1t 72 I 7@ @©
AR |

QYA FICEN T 2T (A7 I FACE |

FRe oFE FAFCEAG, (AT FF, @yien SoFacad
(Feeizmt/ e Teifv) e ool |

T TGAA T (FINS T (FSAI6F (Negative) T9 (RST T 1 |

21326

[ Please Turn Over ]






X-3

20-11

PaPER 11

(PuYsicaL EDUCATION)

1. A leader must possess the following except—
(A) Missionary zeal
(B) Commitment

(C) Persuasiveness
(D) Selfishness

2. Who separated medicines from religion,
superstition and philosophy?
(A) Aristotle
(B) Hippocrates
(C) Edward
(D) Darwin

3. ‘National Football Museum’ which keeps
collection, is located in which country?
(A) Switzerland
(B) Canada
(C) England
(D) France

4. The terms ‘Technical foul” and ‘Flagrant Foul’
are most commonly associated with which of the

following sports?
(A) Table Tennis
(B) Badminton
(C) Basket Ball
(D) Football

5. Which of the following objectives of Physical
Education, according to educationists, carries too much

of idealism?
(A) Organic power and health
(B) Worthy use of leisure time
(C) Neuromuscular coordination
(D) Ethical character

1. (@0 o GFe (To! 1 (Far FFiefie e
A 2

(A) Fi=If Soatel
(B) afesfe

(C) =ifer i
(D) Tzl

2. fsfeiiie @M Tfe =, IRFR @3 w4 (A
BT AT FCARET 2
(A) HIRPOEe
(B) fReAas
(C) “wens
(D) ©IFT2A

3. ‘National Football Museum’ ¥ fifes I@a
REZHEA O (@ (0 SRS 2
(A) eI
(B) =il
(C) T
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(B) TG
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(D) ol
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6. Arrange the following places in correct order of
hosting first four Olymic games.
(I) Athens
(IT) Paris
(III) St. Luis
(IV) London
Codes
(A) (D), (ID), (1), (IV)
(B) (@D, (1), dI), AV)
(C) (IV), (ID), (1), (I)
(D) (D), (ID), (IV), (11I)

7. Bhartiyam was conducted to promote

(A) Indigenous games

(B) Don and Baithak

(C) Free hand exercises

(D) Mass rhythemic activities

8. Who among the following atheletes received
‘Arjuna Award’ on 29th August 2019?
(A) Deepa Malik
(B) Swapna Burman
(C) Virat Kohli
(D) Bajrang Punia

9. Which among the following is NOT considered
as a dimension of wellness?
(A) Social dimension
(B) Occupational dimension
(C) Religious dimension
(D) Spiritual dimension

10. When did the first ‘Rajiv Gandhi Khel Ratna’
was awarded to a Para Athlete in India?
(A) 1991
(B) 1998
(C) 2019
(D) 2002

X-4

6. 22 B efeTF (ofpt-9a Be @ s
G |

(I) @™

(IT) =itz

(I11) GT5 &2A

(IV) 1%

(1o

(A) (D, (I, (1), (IV)
(B) (D), (1), (D), (IV)
(C) V), (ID), (1), (I)
(D) (D, (D), (IV), (111)
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(C) <ifeT 2Ite= RN

(D) ve1or® 2vies ferieetisf
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(D) &= sferal
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10. 99 DG MR (ATAG AL (I SR Al
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(A) 1991

(B) 1998

(C) 2019

(D) 2002



11. Which of the following is a method for the
classification of pupil?
(A) Cozen method
(B) YMCA method
(C) Atlanta city method
(D) All the above

12. Find the value of x, if the mode of the data is
25:15, 20, 25, 18, 14, 15, 25, 15, 18, 16, 20, 25, 20, x.
(A) 15
(B) 25
(C) 18
(D) 20

13. Purpose of systemic circulation is

(a) supply of O, and nutrients to all parts of the
body.

(b) purification of blood.

(¢) bringing CO, and wastages from all parts of the
body.

(d) removal of urine from blood.
Find the correct combination.
Options:

(A) (a) & (b)
(B) (a) & (c)
(C) (b) & (d)
(D) (¢) & (d)

14. Which of the following represent correct
sequence?

(A) Zygote, Foetus, Embryo, Neonate, Infant

(B) Zygote, Embryo, Neonate, Foetus, Infant

(C) Embryo, Zygote, Foetus, Neonate, Infant

(D) Zygote, Embryo, Foetus, Neonate, Infant

15. A muscle fibre relaxes when

(A) the nerve stimulus is removed.

(B) the nerve stimulus is too forceful.
(C) the actin binding sites are uncovered.
(D) the actin binding sites are saturated.
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(D) THAEF 71 2M&fs
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(A) 15
(B) 25
(C) 18
(D) 20
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16. The synthesis of glucose from Lactate, Glycerol
or Amino acids is called
(A) Glycogenolysis
(B) Glycolysis
(C) Lipolysis
(D) Gluconeogenesis

17. Prolonged exercise impairs immune cell
function due to

(A) inhibitory effects of elevated stress
hormones such as cortisol.

(B) a reduction in the number of circulating
white blood cells during exercise.

(C) the removal of all the available glutamine
from the circulation during exercise.

(D) the elevated body temperature promoting
bacterial growth.

18. Select the correct option:

Each Myosin filament is surrounded by

(A) Four Actin Filament
(B) Five Actin Filament
(C) Six Actin Filament

(D) Five Tropomyosin Molecules

19. During training the sensation of vomiting is
caused due to
(A) accumulation of lactic acid.
(B) Adrenaline.
(C) more Oxygen intake.
(D) Carbon dioxide.

20. Thebranchwhich deals with the study of defense
mechanism against disease is called
(A) Parasitology
(B) Epidemiology
(C) Immunology
(D) Physiology

X—-6

16. UK, fA0Fe Sl SHEE Site (A&
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(A) 2R
(B) ailerizlm

(C) =ECARIRRM

(D) FferEEtm
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21. The respiratory exchange ratio (RER) is the
ratio of:

(A) Volume of Oxygen consumed : Volume of
Carbon dioxide produced

(B) Volume of Carbon dioxide produced :
Volume of Oxygen consumed

(C) Volume of Oxygen produced : Volume of
Carbon dioxide consumed

(D) Volume of Oxygen consumed : Body mass

22. Nicotinamide Adenine Dinucleotide (NAD) acts
as
(A) Enzyme
(B) Coenzyme
(C) Hydrogen carrier
(D) Oxidative enzyme

23. The duration of one cardiac cycle is

(A) 0-1 second
(B) 0-3 second
(C) 0-6 second
(D) 0-8 second

24. Givenbelow are two statements, one labelled as
Assertion (4) and the other labelled as Reason (R):

Assertion (4): VO, max is considered as the
best indicator of cardio-respiratory endurance and
aerobic fitness.

Reason (R): The limiting factor in endurance
programme is Oxygen and ability to consume more
Oxygen is limited by genetic factor.

In the context of two above statements, which one of
the following is correct?
Codes -
(A) Both (4)and (R) are true, but (R) is not the
correct explanation of (4)

(B) (A) is true, but (R) is false

(C) Both (4) and (R) are true, and (R) is the
correct explanation of (4)

(D) (A) is false, but (R) is true
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25. Niacin is found in which of the following?

(A) Tomatoes
(B) Eggs

(C) Cereals
(D) Yeast

26. Acrobic fitness is best achieved through
(A) Swimming
(B) Circuit training
(C) Short Sprints
(D) Long distance running

27. Which of the following are involved in injuries
called “sprains”?
(A) Bones
(B) Tendons
(C) Ligaments
(D) Blood vessels

28. Which of the following two therapies do
contra-baths combine?
(A) Electro-therapy and naturopathy
(B) Diathermy and cryo-therapy
(C) Cryo-therapy and thermo-therapy
(D) Hydrotherapy and thermo-therapy

29. Which of the following is known as the
trunk-line of the nervous system?
(A) Synapse
(B) Spinal cord
(C) Ganglia
(D) Hypothalamus

X-8
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30. If25isreplaced by 52 of the following data: 19,
25, 59, 48, 35, 31, 30, 32, 51, what will be the new
median?

(A) 53
(B) 35
(C) 43
(D) 45

31. Whenabadminton player begins to learn tennis,
the transfer-effect in this process is, by and large,
(A) Negative
(B) Positive
(C) Neutral
(D) Zero

32. At which of the following growth stages, vast
improvement is noticed in children’s endurance,
coordination, attention-span, reactions and unaided

thinking?
(A) Pre-school years
(B) Early childhood
(C) Later Childhood
(D) Puberty

33. Accordingto Freud, the typical moral arm of the
personality is
(A) ID
(B) Ego
(C) Superego
(D) Both ego and superego

34. Which cells in the blood do not have a nucleus?
(A) Lymphocyte
(B) Monocyte
(C) Erythrocyte
(D) Basophil

X-9 20-11
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35. The time elapsed between the moment of

application of a stimulus and the moment of first
response is

(A) Reaction time.

(B) Movement time.

(C) Response time.

(D) Reflex action.

36. The motivated teacher will have following
attributes:
(A) goal-directed behaviour
(B) unrealistic level of aspiration
(C) dissatisfaction
(D) deprivation of needs

37. Match List I with List II and select the correct
answer from the codes given below:

List-1
(a) Vastus Internus

List-11
(1) Knee flexion
(b) Biceps femoris
(c) Middle deltoid
(d) Gluteus Maximus

Codes:

(@ b (© @
A @i @ aGv) (D)
B) @ Gv) (1) (i)
© Gv) ) @) (1)
(D) @G G @ (1)

(i1) Hip extension
(iii) Knee extension
(iv) Shoulder Abduction

38. The basic method of equivalance between
experimental and control groups is determined by
(A) Matching
(B) Definition
(C) Frequency control
(D) Random assignment

X-10
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(C) T e
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39. To be appropriate, Physical Education
curriculum can be explained as
(A) subject content.
(B) course of subject for the study.

(C) putting Educational Philosophy into
action.

(D) None of the above

40. Physical Education is a ‘fundamental right’ to
every citizen, is included in
(A) WHO charter
(B) SNIPES charter
(C) HRD Ministry charter
(D) UNESCO charter

41. Which ofthe followingisnotatwo-jointmuscle?
(A) Sartorius
(B) Deltoid
(C) Rectus femoris
(D) Biceps femoris

42. Study of joints is called
(A) Kinesiology
(B) Biomechanics
(C) Sports medicine
(D) Anthropology

43. Genu valgum is postural deformity related to
(A) Elbow
(B) Knee
(C) Foot

X-11

(D) Spine
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44. Hunchback is also known as

(A) Backache
(B) Scoliosis
(C) Lordosis
(D) Kyphosis

45. Two major branches of Bio-Mechanics are

(A) Dynamics and Kinetics
(B) Statics and Kinematics
(C) Kinetics and Kinematics
(D) Static and Dynamic

46. On ‘set’ command the sprinter is in
(A) Stable equilibrium
(B) Unstable equilibrium

(C) Neutral equilibrium
(D) All of the above

47. Match List-I with List-1I and select the correct
answer from the codes given below:

X-12

44. QLT F I AAfafoo?
(A) o wien
(B) cxiferaRm
(C) =ceIF™
(D) FEFIPH

45. GI7 I ufb aure =i
(A) TR @R FREGH
(B) o1ifos @<k SR
(C) FREDH @R FRAIETH

(D) 57ifoF @3k TRAENE

46. ‘G SN Fal A (SSIK (@ SKER A ©f

EGH

(A) fEfeHiet erPsy
(B) SIff#iet SR
(C) =T STy
(D) ©oIF 0

47. ©ifFe [-43 A O [1-93 e 1w A

List-1
(a) Force of Gravity
(b) Frictional force

(c) Buoyant force
(d) Elastic force

Codes -

(@ (b
(A) (i) (@)
B) @ v
(©) (1) (i)
(D) Gv) (1)

List-11
(1) Stability
(i1)) Rebound
(iii) Free Fall
(iv) Floating

© (@
(v) (i)
Gi) (i)
1 (@)
(i) (1)

TeT (FIT (AT DS e
©ifere-1 ©ifere-I1

(a) OIS T (ORECRIGEN
(b) THeIETieTe F& (i) afefwe
(c) 2Fa <o (i) & 7l
(d) Ffeg#s <= (iv) SPH

(PO

(@ ® (© (@

(A) (i) 1) @Gv) (i)

B) @@ (Gv) () (i)

(© @) Gi) @G (@(v)

(D) (v) (@) (i) 1)

48. Physical activity is basically a

(A) social attribute

(B) psychological tendency
(C) biological necessity
(D) philosophical concept

48. ¥KIfFT IR 1o <6
(A) S @Ry
(B) SR 2ieel
(C) Taf aieiTel
(D) s gl



49. Givenbelow are two statements, one labelled as
Assertion (4) and the other labelled as Reason (R):
Assertion (A): The National Policy on teacher
education calls for a substantial improvement in the
conditions on the work and quality ofteacher education.
Reason (R): Policy further upholds the
improvement in the living and working / service
conditions of teachers.
In the context of the above two statements, which of the
following statements is correct?
(A) Both (4) and (R) are true, but (R) is the
correct explanation of (4)
(B) Both (4) and (R) are true, but (R) is not the
correct explanation of (4)
(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

50. The best evidence of professional status of
teaching is the
(A) publication of books.
(B) establishment of retirement systems.
(C) fixing of salary schedules.
(D) enforcement of high standards.

51. Match the terms or expressions of List I with
that of List Il and select the correct option using the
codes given below:

List-1
(a) Professional ethics

List-11
(i) A formalization of

experience into a set
of rules

(i1) Standards of
behaviour expected
by professionals

(iii) Outlines of the
content to be taught

(iv) A document which
includes all the
learning experiences
provided for the
student

(b) Curriculum

(c) Code of ethics

(d) Syllabus

Codes :

(@ (b (© @
Ay (@  aGv) i) (D)
B) @ @) () (@v)
© @) @) @ (3{v)
D) ()  @Gv) @ (i)
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I FIE (R)
TR (4): Frws e sl Gifs s e
JCE € W FAE S_FF SELc@lon Tafod &y 9o
ey
FFA (R)2 Trol «ifs Fvsoa GReaial @
T/ AAREA SRR St we AN |
o= gft 3fe e fsfefiie @t Al
(A) (4) 9% (R) To73 AlSS 9% (R) T (4)-99
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(B) (4) 9= (R) T332 A5 € (R), (4) @3
AT it w9

(C) (4)>M3F G (R) g=

(D) (4) g1 9=k (R) A=

50. faRFold (oiMa SRR Ttes auelfs 2=
(A) T2 23|
(B) w=1a I &f R |
(C) @O whe g |

(D) W 24 |
51. O [-93 A Oifere 11-93 qaiRelefr e
15 AfGS TG (T (A W5 el
©Ifere-1 ©ifere-I1
(a) Coi=llors (foel (i) e @S g e
oo aFh
i
(b) AT (i) CA=MIF-4F =l
AR SABHER ST
(c) wfeiicaa MfeTan  (iii) Mo e A
FA
(d) =iy S (iv) =6 =12 =1 R diora
Gy G fETE T I
vt TEYE A
(PO

(@ b (© @
@A ®H  @Gv) i) (D)
B) @ @) () ({v)
© ) @) @ (@{v)
D) ()  @Gv) @) (i)
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52. Professional ethics in Physical Education
includes
(A) Physical Proficiency
(B) Impartiality
(C) Moral values
(D) Emotional stability

53. Which kind of movement takes place at
horizontal plane about the vertical axis?
(A) Rotation
(B) Circumduction
(C) Both (A) & (B)
(D) None of the above

54. The least possible correlation between two
variables is
(A) —1-00
(B) -0-1
(C) -0-001
(D) —-0-01

55. Which of the following experimental designs
involve single group?
(A) Random group design
(B) Post test only random group design
(C) Repeated measures design
(D) Factorial design

56. When every item in the universe has an equal
chance of inclusion in the sample it is called
(A) Systematic sampling.
(B) Probability sampling.
(C) Non-probability sampling.
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52. ¥KIES MR CoMmE oo Teve —
(A) =Fife wwel
(B) facorwel
(C) tfss Jemcaia
(D) PR Rfes el

53. TIH O A SRR S (@I &
BeTIbeT T ?
(A) T
(B) SIS
(©) (A) s (B) Tewz
(D) THAE @GR T

54. 76 (SREEER W@ FAACE ABRY AR
TAF 20"
(A) —1-00
(B) —0-1
(C) —0-001
(D) —0-01

55. RIS 2T qielT S @Ht e
AT AN TTS ?
(A) FTCI 2pol TH1
(B) (oI (535 \@fet FITGIN 2k o=l
(C) I @rog Tl
(D) TR i1

56. T R 2ifsf & TR e e e

QR A, OICF I
(A) A&oTS T |
(B) TSE=! a3l |
(C) S-Sl Tl |

(D) Stratified sampling.

(D) ®fES 7l



57. The assignment of numbers or symbols to a
property of objects according to value is called

(A) Measurement
(B) Scaling

(C) Weighing
(D) Sampling

58. MS-Word is

(A) an operating system
(B) a processing device

(C) an application Software
(D) an input device

59. A removable magnetic disc that holds
information:
(A) Floppy disc
(B) Hard drive
(C) Monitor
(D) Portable

60. The Germans call this the ‘Spider Monkey’ and
the Italians call it the ‘Snail’. Which symbol is this?
(A) +
B) @
© s
(D) #

61. The primary purpose of an operating system is

(A) to allow people to use the computer.
(B) to make computers easier to use.
(C) to keep systems programmers employed.

(D) to make the most efficient use of the
computer hardware.
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57. (T AL (@MY O o SrRgRi ) A o
T3l 7S 41 2 O <@ e

(A) “If=ie
(B) c&fer
(C) €&
(D) =T

58. MS-Word
(A) @ sifapEe afe
(B) @3 eifgeresd 77
(C) =6 IR FEoe=
(D) @< foica= 77

59. 43 SPPAIREICEIN GrEIT pIFfe @b w2 @
QM8
(A) ol fom
(B) TC gize
(C) w54
(D) (oAIGI=

60. e @i e Aa’ (Spider Monkey)
0 S 2T HNE (Snail) I ©ICs | MHferiie
o=l o™ Ao ?

(A) +
B) @
<) 3
(D) #

61. 930 SRR PIEEN-9F AT Sy 2e1¢
(A) SRR FAIIOOR AR RN (el
(B) FICHIRIE H2rer TR 41
(C) P15 (arama ge [l
(D) FfTHR 2GS FAGCE 7 A2 FACS

[ Please Turn Over |



20-11
62. Which of the following is used for creating and
defining various characteristics of variables?
(A) Data editor
(B) Output viewer
(C) Variable view
(D) Data view

63. A statistical test used to compare 3 or more
groups means is known as:

(A) One-way analysis of variance
(B) Post hoc test

(C) Co-relation coefficients

(D) Regression analysis

64. Development study over a long duration is
called:
(A) Cross sectional study
(B) Longitudinal study
(C) Historical study
(D) Phylosophical study

65. Which out of the following measures is the best
to know the nature of a group?

(A) Mean

(B) Range Deviation

(C) Percentile

(D) Measure of Central Tendency

66. The nutrient that can be considered both a
vitamin and a hormone is
(A) Vitamin A
(B) Vitamin D
(C) Niacin
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62. (SREAGER ffen @Y (o € AW Ty
N @0 TITS T2

(A) T @fesa

(B) TG0 fooa™

(C) a8t 7=l (Variable view)
(D) (@bl foT

63. @3 ARPRAW AT Al 3 A Srofes iPrelem
MO G Pl FHCO IO 2 OICF el H—
(A) T @3 T Reswe
(B) (oI5 2= (535
(C) 231 725!
(D) fRcemis Rese

64. K I 407 TATTETS ST I A2
(A) =ZERN S
(B) ST ST
(C) afszf s
(D) wi=ffe<s e

65. 93 YR AFfe TR G AIGA @ 372
A ©le 2

(A) T©

(B) nife faprfs

(C) *eies

(D) (TR &IrSIF AT

66. @ 7R [CHIfM ¥R 2FGIN Toxg [Kpal
9 @O A=A

(A) feoifim A
(B) fe6ifs@ D
(C) f=ib=

(D) Vitamin E

(D) feBIf E
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67. Which of the following hormones corrects a

causing punctured wounds?
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67. NS @ 2w @0 2R RN SRR
hyperglycemic state? FHEL 2
(A) Insulin (A) TR
(B) Glucagon (B) gl
(C) Epinephrine (C) @Iz
(D) Cortisol (D) 3o

68. Which one among the following minerals is
essential for the transmission of nerve impulses in the
nerve fibers of human body?

(A) Calcium
(B) Cobalt
(C) lodine
(D) Sodium

69. A diet high in saturated fats can be linked with
which of the following?

(A) Kidney failure
(B) Bulimia
(C) Anorexia

(D) Cardiovascular disease

70. Chikungunya is a

(A) Hereditary disease
(B) Deficiency disease
(C) Pathogenic disease
(D) Congential disease

71. Which of the following can be responsible for

(A) Knives and swords

(B) Friction against rough surfaces

(C) Penetration of sharp objects in body
(D) Blow of hammer on skin

68. TFACIET FFOCE FIY T AR Sl
CEGIRCRICEGER SRR RISEARE

(A) FAPRIN
(B) GFRIFG
(C) wNfes
(D) eTifea

69. T M7E pRE AW sl @
2% A ?

(A) el el

(B) 3fetferen
(C) Sy
(D) ZweAts!

o7 AL IS

70. o 2=

(A) FHTS (Aol

(B) SreR@«e (ol
(C) @GReEte el
(D) TS (st

71. oA @0 ARDIIC T (o Ty 7T 209 A1 2
(A) 2R 93 SR

(B) TPyl ©rea fea 92l

(C) (T2 OFF T¥T A=

(D) 9 TgfLa =are
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72. Match List-I with List-1I and select the correct
option from the codes given below:

List-1
(a) Circuit training
(b) Fartlek training

(c) Interval training
(d) Pressure training

Codes -
(@ (b)
(A) (i) (iv)
(B) (v) (i)

© @ @
D @O ()

List-11
(1) Winter Bottom

(i1) Dr. Raindell and
Greschler

(iii) Gosta Halmar
(iv) Morgan and

Adamson
(© (d)
i (i)
i) (1)
>iv) (i)
(1) (iv)

73. Match List-I with List-1I and select the correct
option from the codes given below:

List-1

(a) High performance

(b) Organisation of
competition

List-11
(1) Tactical Action
(i1) Talent identification

(c) Screening of children (iii) Training stage
(d) Motor solution of (iv) Competition system

competition task

Codes -
(@ (b)
(A) (i) (iv)
(B) (v) (i)

© @ @
D) @O ()

© (@
i @)
i @)
(v) (i)
(i) (iv)

72. O [-93 AL O 11-93 Fe 1w A

T (T (AT 15w w18
©Ifere-1 ©Ifere-Il
(a) NFG afemwel (i) 2T 5
(b) FHEE A (i) ©. FEACTE @I
aiiE]
(c) I AfRRe (iii) CoONTI QTR
(d) Bivl af*Eee (iv) SR IR TG
(o
(@ ® (© (@
A) i) @Gv) (@D (i)
B) (Gv) ai) G @
© @) (@ (Gv) (i)
D) @ G a6 (v)

73. ©ifere [-99 N ©ifere 11-93 Fet $te A
Ted (@I (A F4ibe aFes

©Ifermr-1
(a) T “Armi*fel

©Ifere-Il
(i) CFiFIore Mol

(b) afsifsrer wada (i) afoe sifva

(c) I Tl
(d) =fsciforeis s
G A

(PO

(@ (b)
(A) (i) (iv)
(B) (v) (i)
© @G @)
D) @) (D)

(iii) af*rweeg o
(iv) eferifarsia “mle

© (@
i @
i @)
(v) (i)
(i)  (iv)
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74. Given below are two statements, one of which
is Assertion (A) and the other is Reason (R)

Assertion (A): Fitness is that state which
characterized the degree to which person is able to
function.

Reason (R): Fitness is an individual matter that
implies the ability to live most effectively with potential.
In the context of above statements, which one of the
following is correct?

(A) Both (4) and (R) are true, and (R) is the
correct explanation of (4)

(B) Both (4) and (R) are true, but (R) is not the
correct explanation of (4)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

75. Given below are two statements, one is labelled
as Assertion (A) and the other is labelled as Reason (R)

Assertion (A): A greater than normal stress or
load on the body is required for training adaptations to
take place.

Reason (R): Adaptation is the way to body
programmes muscles to remember particular activities,
movements or skills.

Select the correct answer from the following:
(A) (A) is correct, but (R) is wrong
(B) Both (4) and (R) are wrong
(C) Both (4) and (R) are correct
(D) (A4) is wrong, but (R) is correct

76. The ability to determine and change the position
and movements of the body in time and space in
relation to a definite field of action is:

(A) Coupling Ability
(B) Differential Ability
(C) Orientation Ability
(D) Kinesthetic sense

20-11
74. S uib [KGfo mrexl zo1 77 @I K (4) 9=
I FIE (R)
R (4) ¢ IOl 2 (72 OE T (I Ifeq I
S 6! TN ©f HiFe 7 |
FIF (R) 2 o] 251 GF o g [T T T8RO
A FABE FAFTOIE (&5 AP Fuo! (@I0T |
Toiraa vt e ares fawferiis @@l Afdwe
(A) (4) 9% (R) To73 AlGS 9% (R) T (4)-99
A5 A
(B) (4) 938 (R) Tww2 #Afds 5@ (R), (4)-99
M i T
(C) (4) 7% [ (R) g=i
(D) (4) T 5% (R) =1 75+

75. T 1o [ orent 2@ a7 @ WK (4) @R
S5 FIE (R)

R (4)2 dfrwe SfeEe o *[iEa o
FIeIfF bI7l A I (5 IS Bl AREH |

FIF! (R) ¢ S SCAIE T #1Ea (A3 c2iamefm
S famnsetiol, Seticran 1 wFel S L SollT |

aResl @@ e Ten Wdiva T
(A) (4) 7T 5 (R) w1
(B) (4) ¢ (R) TR g
(C) (4) 8 (R) To3z 7o
(D) (4) 7= 5% (R) o=

76. % 2T IR M TF @ [ 7w @R
T 2 1 Feaa s @3k sifefafa e @ ofaada
FE FNOl 2o —

(A) G Tl
(B) NLFTETE el
(C) SfeqRFae el
(D) FiEEPalF g6
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77. Select the correct sequence of training plans:
(A) Micro cycle plan, Conceptual plan, Macro
cycle plan, Meso cycle plan

(B) Conceptual plan, Macro cycle plan, Meso
cycle plan, Micro cycle plan

(C) Macro cycle plan, Meso cycle plan, Micro
cycle plan, Conceptual plan

(D) Meso cycle plan, Micro cycle plan,
Conceptual plan, Macro cycle plan

78. The supercompensation effect of training is due
to

(A) improved proportion between Load &
Recovery.

(B) proper proportion between Load &
Recovery.

(C) Massage manipulation.
(D) continuous Load with high intensity.

79. Which is not included as principle of sports
training ?
(A) Economy of movement
(B) Progression of load
(C) Cyclicity of training
(D) Continuity

80. Field games like football, rugby, hockey are
covered under
(A) Continuous training
(B) Speed play training
(C) Interval training
(D) Weight training

81. Cybex Machine is based on the principle of

(A) Isometric contraction
(B) Isotonic contraction
(C) Isokinetic contraction
(D) Plyometric contraction
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77. affERa sifqeaeg AT @ [iva g

(A) SRR AR, MRS w1,
PR 2|, (e 2l

(B) HRENE 2If s, syicapiRese sifa<msm,
IR AR, R v

(C) SUICE PR AR, (TR s,

(o

= fa fa
AR(PAIRCFCT AT, QIKEACTF AT

(D) AR AT, ReE R s,
S IEC NG S| B A [ v X Il S a)

78. SRR FoARTCRINEMT TR (effect) I
EGH

(A) Bl7l @3 TR N THO oS
(B) DI €3 TG WK AfIF S ATS
(C) wiferes=r =cast

(D) Tt Sl Al Sfibes Sivl

79. @A Fro afwed TS 1@ srege 772
(A) T 2R=IGT A0l
(B) BItsia wialaifs
(C) ef*rmeea v
(D) «RAIfEFel

80. o<, 91, 2 o Mok (Ll eSS
W_
(A) wififvzs e
(B) 5if® etz afsirel
(C) Taa e
(D) ©lares if*frel

81. AZEH TG @I Tfex Tolrm afcoe?
(A) SENEGE A
(B) SIRAGIRE ACHD
(C) SREIFREDS Ao

(D) 2RSWLF AFDT




82. In Iowa Posture test, find the correct sequence
of the following items:

(i) Sitting (ii) Walking (iii) Standing (iv) Foot
mechanics (v) WalkingupanddownStairs (vi) Stooping
Codes -
(A) (), (i), (ii1), (iv), (v), (vi)
(B) (i), (iid), (1), (1), (vi), (V)
(C) (), (iid), (1), (v), (1), (vi)
(D) (), (i), (iii), (1), (vi), (V)

83. In which of the following routine activities we
hardly require any muscular power?
(A) Rising quickly from a chair
(B) Jumping over a ditch
(C) Bounding up a flight of stairs
(D) Rocking a baby in a cradle

84. Which measurements of body composition are
based on the assumption that density and specific
gravity of lean tissue is greater than that of fat tissue?

(A) Hydrostatic weighing
(B) Body mass index

(C) Electro biography
(D) Anthropometry

85. Cooper’s 12 minute run/walk test is to measure

(A) Cardio Vascular Endurance
(B) Strength Endurance

(C) Speed Endurance

(D) Maximum Strength

86. The evaluation which is undertaken during the
course of training is called
(A) Summative evaluation
(B) Creative evaluation
(C) Formative evaluation
(D) Normative evaluation

X-21

20-11
82. wiRew ft AR Kanef A T s
IGREEETE

(i) A (ii) B! (iii) WO (iv) AT @ (v) Bife
e Sofa s 261 (vi) AN G

T2

(A) (), (i), (iii), (v), (v), (vi)

(B) (iv), (i), (ii), (i), (vi), (v)

(©) (iv), (iid), (ii), (v), (i), (vi)

(D) (iv), (i), (i), (1), (vi), (V)

83. fAxfeike Fafve el sy sm
@ (A wfea 9 e =2

(A) @35 GTF (A T €l
(B) 7E T A =il

(C) Fifers =ifrm ot

(D) @ ABICE M @A

84. WINFTF S0 @ AR T Al T
(lean tissue) g € SRS WFg B TN (ATF (T,
&3 479 T fSaeie 2

(A) 2RGPHIDT e&
(B) 3f® I 30w
(C) Tamgfen Gt

(D) Teife=

85. olicaa 12 Wi (e/ 2o 24! #ifsiel e
(A) SISO FamaeTel
(B) *If& saeieTel
(C) oI sEaHileTel
(D) Hifss =ife
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(D) =W ST
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87. Chapman ball control test is used to test skills in
(A) Football
(B) Basket-ball
(C) Hockey
(D) Volley-ball

88. Match List-I with List-1I and select the correct
answer from codes given below:

List-1 List-1T
(a) Preparatory period-I (i) Achievement of
goals

(b) Preparatory period-II (ii) Recuperation
(c) Competition period (iii) Development of
technique
(d) Transition period (iv) Formulation of
conditional and

technical base

Codes:

(@ (b (© (@
Ay (@ G @Gv) (D)
B) i) Gv) () (1)
© Gv) @) (@) (i)
D) ) @ >i) ()

89. Effective communication is essential in sports
management to keep alive its
(A) Dynamics
(B) Characteristics
(C) Principle
(D) Foundation

90. Product, Price, Placeare all parts of which of the
following?
(A) Markeing Curve
(B) Marketing Concept
(C) Marketing Exchange
(D) Marketing Mix
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87. BHioIT & fgel 21 Sl (FF wwe! A FAE
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(A) Foet
(B) CHG I
©) ==
(D) Sferaet

88. O [-93 L O 11-93 e 1w Aw
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(a) 2o ANTHIF-1 (1) T G
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(A) afeSerel
(B) @33
(C) s

(D) fofe

90. oflf, WIS, FI B (FITHF T SLH 2
(A) Rotee T@=l
(B) fstels «izelt
(C) Taotae fafersm
(D) ool forasley
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91. Whatisthe mostimportantinformation aplanner
can determine prior to an event?
(A) Past events held by the group
(B) The Budget
(C) Group Demographics
(D) Expected attendance

92. If the foot is abducted, it is moved in which
direction?
(A) Inward
(B) Outward
(C) Upward
(D) Downward

93. If an object covers 630° in a circle, then how
much revolution the object has covered?
(A) 1% revolution
(B) 1% revolution
(C) 1% revolution
(D) None of the above

94. Ascompared to asyllabus, a curriculum is more

(A) comprehensive
(B) inclusive

(C) diverse

(D) dynamic

95. is called perceptional level learning.

(A) Concrete to abstract
(B) Known to unknown
(C) Seen to unseen

(D) Simple to complex
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(A) 25t B SIS SreICed 5]
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(D) =ifie Soiffs
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(B) 3ifer®
(C) THYA
(D) S faw
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(A) 1Y% SIS
(B) 1% S8+
(C) 1Y S8
(D) THAE @GR T
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(B) wEve
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(D) ife®ie
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96. Find the correct answer:

(A) Frictionisanegative force for performance.
(B) Frictionisapositive force for performance.

(C) Friction is negative as well as positive
force for performance.

(D) Friction does not have any influence on
performance.

97. Which of the following course in Physical
Education does not come under the purview of the
National Council for Teacher Education (N.C.T.E)?

(A) B. P. Ed. (Integrated)

(B) M. P. Ed. (2-year)

(C) B.P. Ed. (2-year)

(D) B.A./B.Sc(Hons.)inPhysical Education
(3-year)

98. In SPSS, what is the ‘Data Viewer’?
(A) A table summarizing the frequencies of
data for one variable

(B) A spreadsheet into which data can be
entered.

(C) A dialog box that allows you to choose a
statistical test.

(D) Ascreeninwhich variables can be defined
and labeled.

99. During Short-term high intensity exercise energy
supply is maintained through:
(A) Breakdown of ATP
(B) Electron transport chain
(C) Anaerobic Glycolysis
(D) Breakdown of CP

100. Which of the following variables cannot be
expressed in quantitative terms?

(A) Socio-economic status

(B) Marital status

(C) Numerical aptitude

(D) Professional attitude
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